C:# Steigung berechnen Name:

Berechne die Steigung. Antworten
Bsp) -3x+y=-2 Bsp) 1x-7y=28 3
y=3x-2 -7y =-1x + 28 . -
— Ly 1
y=7/Xx-4 Bep. /7
1.
1) -8x-y=+8 2) 6x-y=-3
2.
3.
3 1x-2y=-14 4) -ox+2y=-14 a
5.
6.
S) 5x-Ty=42 6) 8x+3y=-6
7.
8.
7) ox-y=-4 8) Bx-y=+5 *
10.
11.
9) 1x-4y=-36 10) -8x-9y=45 1
13.
14.
11) Ax-y=-9 12) 8 +y=+5
13) -1x+6y=-54 14) 2x-y=+8
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Steigung berechnen Name: L Osungsschlissel
Berechne die Steigung. Antworten
Bsp) -3x+y=-2 Bsp) 1x-7y=28 3
y=3x-2 -7y =-1x + 28 Bsp. !
_1 1
=/x-4
y=7X Bsp. ;
-8
1. 1
1) -8x-y=+8 2) 6x-y=-3
-y =8x+38 -y =-6Xx-3 9 61
y=-8x-8 y=6x+3 L
3 2
9
3 1x-2y=-14 4) ox+2y=-14 4 2
-2y =-1x-14 2y =9x-14 5
y=7X+7 y=7x-7 5. 7
-8
6 3
5 5x-7y=42 6) 8x+3y=-6 9
-7y =-5x + 42 y=-8x-6 7. 1
y=7x-6 y=-%x-2 5
8. 1
1
7 -9x-y=-4 8) 5x-y=+5 . -
-y = - -y = - -8
y=9x-4 y=-5x+5 10 o
y=-9%+4 y=5x-5
-4
11. 1
-8
9) 1x-4y=-36 10) -8x-9y=45 " L
Ay =-1x - 36 -9y =8x +45 1
y=7x+9 y=-7x-5 13. 6
2
14, /1
11) -4x-y=-9 12) gx+y=+5
-y =4x-9 y=-8x+5
y=-4x+9
13) -Ix+ 6y =-54 14) 2X-y=+8
oy =1x - 54 -y =-2x+8
y=7x-9 y=2x-8
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